Tastes Like Chicken - Solution
Author: Dan Katz

Each of the “menu” grids can be filled in with the given letters (each letter appearing in
the specified third of the grid) to form crisscrosses in which every entry is a first name.
Within each grid, all names are male or all names are female. In addition, one of the
letters is replaced in its list by a question mark. That letter only appears once in its section
of the grid, so the letter’s location can be uniquely determined. Transfer these letters to the
“leftovers” grid, preserving their positions. Reading left to right, row by row in the
resulting grid spells the answer, CONNOISSEUR.
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